

Order of operations worksheet - 3 Answer

Name: _____

Date: _____

$$9 \times (9 - 3) = \mathbf{54}$$

$$(8 \times 6) - 1 = \mathbf{47}$$

$$(2 \times 1) + 6 = \mathbf{8}$$

$$5 + (3 \times 1) = \mathbf{8}$$

$$(8 - 5) - 3 = \mathbf{0}$$

$$3 \times (1 \times 1) = \mathbf{3}$$

$$(6 \times 3) \times 8 = \mathbf{144}$$

$$7 - (3 - 2) = \mathbf{6}$$

$$7 + (5 \times 2) = \mathbf{17}$$

$$5 \times (7 - 7) = \mathbf{0}$$

$$(6 + 2) - 2 = \mathbf{6}$$

$$(9 \times 7) - 5 = \mathbf{58}$$

$$9 + (4 \times 3) = \mathbf{21}$$

$$3 + (6 + 4) = \mathbf{13}$$

$$(9 + 7) + 1 = \mathbf{17}$$

$$1 + (8 \times 1) = \mathbf{9}$$

$$(5 + 5) + 9 = \mathbf{19}$$

$$7 \times (9 \times 2) = \mathbf{126}$$

$$(8 + 1) \times 2 = \mathbf{18}$$

$$(9 - 7) + 5 = \mathbf{7}$$

$$1 - (8 - 7) = \mathbf{0}$$

$$(4 - 2) - 2 = \mathbf{0}$$

$$4 + (3 + 3) = \mathbf{10}$$

$$(9 + 3) + 2 = \mathbf{14}$$

$$1 + (3 + 1) = \mathbf{5}$$

$$(5 + 3) - 3 = \mathbf{5}$$

$$(8 - 5) + 7 = \mathbf{10}$$

$$(6 \times 1) + 9 = \mathbf{15}$$

$$2 + (3 - 2) = \mathbf{3}$$

$$(9 - 1) + 2 = \mathbf{10}$$

$$4 + (9 + 6) = \mathbf{19}$$

$$(8 - 5) + 2 = \mathbf{5}$$

$$7 \times (5 \times 1) = \mathbf{35}$$

$$5 + (8 \times 1) = \mathbf{13}$$